CIS 3362 Homework #2

Chapter 2: Monoalphabetic Ciphers

Due: Tuesday, 9/19/06 

Note: This is a group assignment. Each pair of students should turn in one write-up in class on the due date. Both students' names should clearly be at the top of the front page of the assignment. Students may also turn in the assignment by themselves if they do not wish to have a partner.

Decode the following ciphertexts. Please use the CAP tool, and in your write-up, describe the steps you took and why you took them in decrypting the ciphertext. At the end of your description, reveal the full matching plaintext.

1) (Vigenere) 

Qstvnarsmegmpsbtmszwlitshhaeoiisaenrbhamikgcwsrmgvmlzqbbxcwygkacyslcnxcmaylsksbfecjjrjxwcivgtrdgrubvgsaouvdkuhxvisgsbehikqbxzhnphyozrutw
2) (Vigenere)

twagptolpgjjytdwoifoaudsjssaxkrlsalriiafcefyibomkozrlkrwdhsgpceepelrlgtvzygpagnlxeljakajtcsirutolilosyewjomwsh

3) (Autokey)
ugmbkktiqwtztigfqsygcxktysbkyroztvvlcfoekrfrfbarukuayrwqhnilbzhulljnvdlxcadvghvredchmtagoeajhjszcypgebykxnkrxlinbitvyhvwhrshhtlpunncctupnbwfctkt

4) (Autokey)
Thvipdmpniehdurkxwouegbswfphftwhzijykydbqcgchlupjkzzptakmclblvngxbcmvkajcynyhjrnl
5) (Nihilist)

62    35    76    95    68    84    52    46    58    63

66    65    53    36    86    93    74    96    44    47

96    75    54    84    72    28    80    93    55    83

43    35    77    84    46    75    56    54    70    64

57   102    76    46    78    56    55    74    72    26

88    76    54    84    44    55    86    66    48    73

54    64    56    54    66    64    76    46    56    54

66    64    76    46    77    55    45    63    74    46

86    93    78    73    73    26    59    83    67    96

53    56    78    93    68    92    55    28    80    55

78    86    44    24    56    75    57    84    56    26

69    67    86    84    63    26    69    93    48    73

82    35    97    75    48    64    76    44    68    93

44    63    64    26    90    75    84    84    43    25

88    75    78    73    74    46    96    77    74   75 46

6) (Substitution)

pswiyvepmugxgnmewfaxgnpkymkxwfrmgugxgnklwssxhspfwlfmrgwfrmgvgkawepbyogopssmgdxlystfgvepepeppfumeykywlfgmewfrxgnipfugpognmwmegvignsuxgnybykmewfamepmogovgnsuswayxgndgkymepfdylwssxrwks

7) Use the Euclidean Algorithm to determine the greatest common divisor of 3077 and 2295. Please show all of your steps.

8) Assume that the Martian language has six letters: A, B, C, D, E and F. Compute the index of coincidence of the following piece of Martian text:

ABDDEF FAAC EEF ABBBA AABA FEFFFA FAFAFA BEAB

Do not use CAP for your calculation. Rather do it by hand and show all the steps. (You can put basic things into a calculator, but I want to verify that you know all of the steps in computing an index of coinicidence.
